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Section 8.1
10x + 3)° (9x - 3)°

1. Inthe figure at the right,
a.) What is the value of x? Y3y -\4 =640

Yix=H69 2)‘)(:\6 I

b.} Find the sum of the measures of the exterior angles,
one at each vertex.

(12x - 9

(o]

*[300

2. You are given the number of sides of a regular polygon. Find the measure of each interior and
each exterior angle.

a. Quadrilateral b. Octagon
Int: (q%\gtu 3_393 q0° iny: (%g)%w: l°_§0: '__35.‘

Ext: 360 _ o . e
14
3. The measure of the interior angle of a regular polygon is 160°, how many sides does the polygon

3 - 7). go
have? ivo=(N 2{:\ ‘ﬂfl?.'

1bOn =150N-300

-20N=-3%0
4. The sum of the measures of the interior angles of a convex polygon is 2700°. How many sides

does the polygon have? 2700 = (N-2)1$0
15 =N-1

o)

5. Solve for x using the diagram below and find the measure of each exterior angle that is missing.
H2% + 204 = 260
Hh21xX =150

o)

6. The sum of the measures of the interior angles of a particular regular polygon is 6120°. First find
the number of sides the polygon has, and then find the measure of each exterior angle for this

polygon.
6120 = (2N Ext: 200 1o
34-n-2 %

o



Section 8.2-8.3

7. Consecutive angles in a parallelogram are always
a. Congruent angles
b. Complementary angles

C{? Supplementary angles
Vertical angles

8. Choose the statement that is NOT ALWAYS true. For any parallelogram,
a. The diagonals bisect each other
b. Opposite angles are congruent
@ The diagonals are perpendicular
d. Opposite sides are congruent

9. Find the value of the variables in the parallelogram

Y=6h
Z =104
=)

a.x=52,y=105,z=159

@ x=21,y=55,z=104
c. x=55y=21,z=104
d. x=10.5,y=52,z=159

10. For parallelogram PQLM, if m£PML = 83° then m£PQL = (SJJ‘-

/\\,4 //
/m\ N\

L
; mLPQM
G
c. 97°
d. mzQlLM



Each figure below is a parallelogram. Please solve for the indicated variable(s).
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13. 14. UH=19 and FH =5x-7.
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15. 16.
16
(y— 60)° 3/ 6k
5/—9
56°
3x+ 4 3j=5j-19 3K 0
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(Qh!- 4y
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4q:1%9 lh:Q }
(3g + 5)° N




Section 8.4

18. Given that ABCD is a rectangle,

a) If AE =36 and BD = 2x — 4, find the value of x.

Bz—AC
2%X~4 = 13 0 E 5
ax=lo , _
\ngq A 23“0

%% b) Ifm<ABD = 62°, please find m«BAC

[o2°]

19. Given that quadrilateral ABCD is a rectangle and m£B = (8x+26)°, what is the value of x?
$x+20=90 (aw ntangies are qp°)

gx=04
X=8

20. Given that ABCD is a rhombus,

a) Please find the measures of the numbered angles. B
mal = 5g° mey =q0° 12

nels 6g° A 3
me3 = 32° ey L~ x4
b) IfAD=2x+4and CD=4x-4, find x.

2x+4 29X [‘Fﬂ

Yzx-4
g=2X%
21. The diagonals of square DEFG intersect at H. Given that EH =5, find the indicated measure.
a) mZGHF =90° (diagonals are L) D £
b) mZDGH =ys5° (dmgonau biedt ang\zs) g B
c) DF=5+5 =10 (diagonars bisect eduhn other ) HXX
d) HF = H ey F

22. Given quadrilateral ABCD, please solve for xand y.

D4 +X=180 (ONsec angles are supp-)

‘Xf‘l\o l

Yti=3y (ary sudeS are Z)

¥-1y

Y]



Section 8.5

Given the quadrilaterals below, please find the value of x.

= ' p 8.
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! . o X
e5+x=180  (cOngecutve N\QKS) X W

ix=ug } X=110 | (base angles are %)

A D mdseg - jj(%ﬂﬁ +hosR )
4% Mix+s | 26. v 0
| N
T / \B
\ "l‘ \
95° /
B C i 13 X
lx+g+95 =120 ( consecurhve angles ) X= 3 (q413)
X 4103 = 18D " 5(21)
lix=11
‘ij ’ %z
27. Iy + 1 ’ 28. ) ” .

Z 11x+2 w

125 = L (3xr416) 4.6=1.5% 29: 3 (234 Wx+2) ~ Vo-S=556X
12.5 < £ (2xH0) lx-ﬂ 29+ 5 (1A +25) @

nS=15%+9 CEL T SAVRY



29. Given the trapezoid below, find:

a) mzl__80°

b) moL_ \00° & (ongruent bak
—  ongiew| <K

c.) mLML

For the kites below, please solve find the value of x.

30. 31.
F
E G
>,
H
) (congrdent o LF)
2% 4132460 =360 _{_E‘; g

2%+ 1922300

2% =1b§ S |x=gtf°]

32. Given the kite shown below, find:
<Q
a) mzsR__10
b) mss_ 125"

c) mJsT 4o’

2x+307+126 4128 =360
2%+ 2502360

2%=§0
%240



Coordinate Proofs

33. Given coordinates A(-5,2),B(5,2), C(3,5) and D(-3,5).Please determine wha,; type of quadrilateral
10

ABCD is. Please justify your answer.

SwPebc = h-5

Bases : 22 0.
- —b s —
3 > D¢ /] AB
S\opc’m = 2;2‘— = —Q—- =
5 10

Legs: Distance gy = \| (34804 (52) - @+ (3)F = J4+9 = N3

OSTUnee o, = \‘(3-5)1+(9~1)1 {4 - {49 = Vi3

SINCE bases DC//AB and \egs AD €

\sosceles fraperoid
34. The vertices of a quadrilateral are J(-6,2),

parallelogram.
Oppsides: OSFz = Jive)h (3-0)® - Jon® = I 41 =20
Dt = Jia2) (e =desret) - Jsat = V20

OPp S Dist 5 = Jsebl v (w2 = {Or*0) =Jatso = NHS

Dt r = JGara sy - Joracer < Frko - B

Glope 7y =34 . L _-uty o )
st -\t 9 SWPL g, = 3«a1-'é"'5
Slope iy = -4 _ - .3 SWpegg =33 -b .
P32 %=-a Pu_lﬂ.a.

35. Quadrilateral BSOX has vertices B(-5, 1), $(-3, 5), O(3, 2), and X(1, -2).

B, th quadritateral i on
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K(-1,3), L(2,-3), and M(-3, -4). Prﬂve that JKLM is a
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a. Please prove that BSOX is a rectangle.

@ b. Find the area and perimeter of

Ot g = J(345) 4 (547 = {@P (i e =B N ? oY
0t 5% = ()22 <[t =T < V20

Distg = Lomla(a)t = Jora () =\ - Jar NGT 0BT
DusFg = Ly () = Jerar - {3+t = W86

it
T = ’1"6 % _é.:
lope EIC

®) Area = (4:$)61) = Jo-isunirs
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Perimeter = 5167 +4.546.7 = 2. ¥ un(1s



